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 Notes : 1. Attempt all the questions. 

 2. All questions carry equal marks. 

 3. Use of simple non-programable calculator is allowed. 

 4. Use of mathematical table is allowed.  

 

    

1.  Write an essay on Indian Agriculture statistics.  

 

OR 

 

Explain sampling error and non-sampling errors. State the difference between sampling 

error and non-sampling error. 

 

16 

2.  Define the various measures of central tendency. What purposes do these measures serve? 

 

OR 

 

Find out mode, median and mean from the following 200 person's incomes. 

Income in Rs. 

(between) 

No. of persons 

1,000 and 2,000 25 

1,000 and 3,000 33 

1,000 and 4,000 48 

1,000 and 5,000 98 

1,000 and 6,000 126 

1,000 and 7,000 180 

1,000 and 8,000 192 

1,000 and 9,000 197 

1,000 and 10,000 200 
 

 

16 

3.  Answer any two from the following questions. 

 

 

  a) What do you mean by positive and negative correlation? 

 

8 

  b) Define standard deviation. Write the drawbacks in calculation of standard deviation. 

 

8 

  c) Which of the following two groups is more consistent: 
  

 Group – A Group – B 

Mean 30 25 

Variance 625 400 
 

 

8 

  d) From the following Regression equations calculate the value of 'x' and 'y'. 

 
33)(5y4x

1079y20x




 

 

8 
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4.  Answer any two from the following questions. 

 

a) Explain the following concept of probability: 

 i) Discrete and continuous probability. 

 ii) Expected values 

 

b) Explain the difference between conditional probability under condition of certainty 

 and uncertainty. 

 

c) On an average 20% of persons going to a handicrafts emporium are foreigners and 

 the remaining 80% are local persons. 75% of such foreigners and 50% of such local 

 persons are found to make purchases. If a bundle of purchased items is sent to cash 

 counter. What is the probability that the purchase is a foreigner.  

 

d) Shreeram library Nagpur received 40 books including 12 English Novels. If 4 of 

 these books are selected at random, what is the probability that no one of them is a 

 English Novels? 

 

 

5.  Answer the following questions: 

 

a) "A good sample must be based on random selection" Explain. 

 

b) Calculate Harmonic Mean from the following figures: 

 values: 605, 650, 705, 800, 90, 1.012, 0.15 

 

c) Calculate coefficient of skewness form the following information 

 Standard deviation = 4.68 

 Median                   = 51 

 Mean                      = 50 

 

d) One card is drawn from a standard pack of 52. What is the probability that it is either 

 king or queen? 

 

 

  ***********  
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 Ôã îÞã¶ãã : - 1. ÔãÌãÃ ¹ãÆÍ¶ã Ôããñ¡Ìãã. 

 2. ÔãÌãÃ ¹ãÆÍ¶ããâ¶ãã Ôã½ãã¶ã Øãì¥ã ‚ããÖñ¦ã. 

 3. Ôãã£¾ãã ¶ããù¶ã-¹ãÆãñØãÆã½ãñºãÊã Øã¥ã‡ãŠ ¾ãâ¨ã Ìãã¹ãÀ¥¾ããÔã ¹ãÀÌãã¶ãØããè ‚ããÖñ. 

 4. Øããä¥ã¦ããè¾ã ÔããÀ¥ããè Ìãã¹ãÀ¥¾ããÞããè ¹ãÀÌãã¶ãØããè ‚ããÖñ. 

 

    

1.  ¼ããÀ¦ããè¾ã ‡ãðŠÓããè ÔããâãäŒ¾ã‡ãŠãèÌãÀ ãä¶ãºãâ£ã ãäÊãÖã. 

 

ãä‡ãâŠÌãã 

 

¶ã½ãì¶ãã ãäÌã¼ãÆ½ã ‚ãããä¥ã ØãõÀ-¶ã½ãì¶ãã ãäÌã¼ãÆ½ã Ô¹ãÓ› ‡ãŠÀã. ¶ã½ãì¶ãã ãäÌã¼ãÆ½ã ØãõÀ-¶ã½ãì¶ãã ãäÌã¼ãÆ½ã ¾ãã¦ããèÊã ¹ãŠÀ‡ãŠ ªÍãÃÌãã. 

 

 

2.  ‡ãòŠ³ãè¾ã ¹ãÆÌãð¦¦ããèÞ¾ãã ãäÌããäÌã£ã ½ãã¹ããâÞ¾ãã Ì¾ããŒ¾ãã ²ãã. ¾ãã ½ãã¹ã¶ãã¹ããÔãî¶ã ‡ãŠãñ¥ã¦¾ãã „ªáªñÍã ¹ãî¥ãÃ ‡ãŠÁ Íã‡ãŠ¦ããñ? 

 

ãä‡ãâŠÌãã 

 

ŒããÊããèÊã 200 Ì¾ã‡ã‹¦ããéÞ¾ãã „¦¹ã¸ãã‡ãŠãäÀ¦ãã ºãÖìÊã‡ãŠ, ½ã£¾ã‡ãŠã Ìã ½ãã£¾ã ‡ãŠã¤ã. 

„¦¹ã¸ã (Á) (ªÀ½¾ãã¶ã) Ì¾ã‡ã‹¦ããéÞããè ÔãâŒ¾ãã 

1,000 ‚ãããä¥ã 2,000 25 

1,000 ‚ãããä¥ã 3,000 33 

1,000 ‚ãããä¥ã 4,000 48 

1,000 ‚ãããä¥ã 5,000 98 

1,000 ‚ãããä¥ã 6,000 126 

1,000 ‚ãããä¥ã 7,000 180 

1,000 ‚ãããä¥ã 8,000 192 

1,000 ‚ãããä¥ã 9,000 197 

1,000 ‚ãããä¥ã 10,000 200 

 

 

 

3.  ŒããÊããèÊã¹ãõ‡ãŠãè ‡ãŠãñ¥ã¦¾ããÖãè ªãñ¶ã ¹ãÆÍ¶ããâÞããè „¦¦ãÀñ ²ãã. 

 

‚ã) £ã¶ãã¦½ã‡ãŠ Ìã ¨ãÉ¥ãã¦½ã‡ãŠ ÔãÖÔãâºãâ£ã ½Ö¥ã•ãñ ‡ãŠã¾ã? 

 

ºã) ¹ãÆ½ãã¥ã ãäÌãÞãÊã¶ããÞããè Ì¾ããŒ¾ãã ²ãã. ¹ãÆ½ãã¥ã ãäÌãÞãÊã¶ããÞ¾ãã ‚ããØã¥ã¶ãã¦ããèÊã ‚ã¡Þã¥ããè ãäÊãÖã. 

 

‡ãŠ) ŒããÊããèÊã ªãñ¶ã Øã›ã¹ãõ‡ãŠãè ‡ãŠãñ¥ã¦ãã Øã› ‚ããä£ã‡ãŠ ÔãìÔãâØã¦ã ‚ããÖñ? 

 Øã› - ‚ã Øã› - ºã 

½ãã£¾ã 30 25 

ãäÌãÞãÀ¥ã (Variance) 625 400 

 

¡) ŒããÊããèÊã ¹ãÆ¦ããè¹ãØã½ã¶ã Ôããä½ã‡ãŠÀ¥ãã¹ããÔãî¶ã `àã` ‚ãããä¥ã `¾ã` Þãñ ½ãìÊ¾ã ‡ãŠã¤ã. 

 

33)(5¾ã4àã

1079¾ã20àã




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4.  ŒããÊããèÊã¹ãõ‡ãŠãè ‡ãŠãñ¥ã¦¾ããÖãè ªãñ¶ã  ¹ãÆÍ¶ããâÞããè „¦¦ãÀñ ²ãã. 

 

‚ã) Ôãâ¼ããÌ¾ã¦ãñÞ¾ãã ¹ãì¤ãèÊã Ôãâ‡ãŠÊ¹ã¶ãã Ô¹ãÓ› ‡ãŠÀã. 

 1) Œãâ¡ãè¦ã ‚ãããä¥ã ãä¶ãÀâ¦ãÀ Ôãâ¼ããÌ¾ã¦ãã 

 2) ‚ã¹ãñãäàã¦ã ½ãîÊ¾ã 

 

ºã) ‚ã›ãèºã£ª Ôãâ¼ããÌ¾ã¦ãñ½ã£ããèÊã ãä¶ããäÍÞã¦ã¦ãã Ìã ‚ããä¶ããäÍÞã¦ã¦ãñÞ¾ãã ¹ããäÀãäÔ©ã¦ããèÊã ¹ãŠÀ‡ãŠ Ô¹ãÓ› ‡ãŠÀã. 

 

‡ãŠ) †‡ãŠã ÖÔ¦ã‡ãŠÊãã ¼ããâ¡ãÀã¦ã ÔãÀãÔãÀãè 20% ãäÌãªñÍããè Ì¾ã‡ã‹¦ããè Ìã „ÌãÃãäÀ¦ã 80% Ô©ãããä¶ã‡ãŠ Ì¾ã‡ã‹¦ããè •ãã¦ãã¦ã. ãäÌãªñÍããè 

 Ì¾ã‡ã‹¦ããè¹ãõ‡ãŠãè  75% ‚ãããä¥ã 50% Ô©ãããä¶ã‡ãŠ Ì¾ã‡ã‹¦ããè ŒãÀñªãè ‡ãŠÀ¦ãã¦ã. •ãÀ ¦¾ããâ¶ããè ŒãÀñªãè ‡ãñŠÊãñÊ¾ãã ÌãÔ¦ãîÞãã Øã›áŸã  ÀãñŒã 

 ¹ã›Êãã‡ãŠ¡ñ ¹ããŸãäÌãÊãã ¦ãÀ ŒãÀñªãè ‡ãŠÀ¥ããÅ¾ãã ãäÌãªñÍããè Ì¾ã‡ã‹¦ããèÞããè Ôãâ¼ããÌ¾ã¦ãã ‡ãŠã¾ã ÀãÖãèÊã? 

 

¡) ¶ããØã¹ãîÀÞ¾ãã ÑããèÀã½ã ØãÆâ©ããÊã¾ããÊãã 40 ¶ãÌããè¶ã ¹ãìÔ¦ã‡ãñŠ ¹ãÆã¹¦ã ¢ããÊããè¦ã •¾ãã¦ã 12 ƒâØãÆ•ããèÞ¾ãã ‡ãŠãâªºãÅ¾ãã ‚ããÖñ¦ã. •ãÀ 

 ¾ãã¹ãõ‡ãŠãè ÞããÀ ¹ãìÔ¦ã‡ãŠãâÞããè ªõÌã-¶¾ããªÍããÃ¶ãñ ãä¶ãÌã¡ ‡ãñŠÊããè ¦ãÀ Ôãâ¼ããÌ¾ã¦ãã ‡ãŠã¾ã ÀãÖãèÊã? ¾ãã¹ãõ‡ãŠãè †‡ãŠ ƒâØãÆ•ããè ‡ãŠãâªºãÀãè ¶ããÖãè. 

 

 

5.  ŒããÊããèÊã ¹ãÆÍ¶ããâÞããè „¦¦ãÀñ ²ãã. 

 

‚ã) †‡ãŠ ÞããâØãÊãã ¶ã½ãì¶ãã ªõÌã-¶¾ããªÍãÃ ãä¶ãÌã¡ãèÌãÀ ‚ãã£ãããäÀ¦ã ‚ãÔãÊãã ¹ãããäÖ•ãñ Ô¹ãÓ› ‡ãŠÀã. 

 

ºã) ŒããÊããèÊã ‚ãã‡ãŠ¡ñÌããÀãèÌãÁ¶ã ÖÀã¦½ã‡ãŠ ½ãã£¾ã ‡ãŠã¤ã. 

 ½ãîÊ¾ã: 605, 650, 705, 800, 90, 1.012, 0.15 

 

‡ãŠ) ŒããÊããèÊã ½ãããäÖ¦ããèÌãÁ¶ã ‚ã¹ããä‡ãŠÀ¥ã Øãì¥ã‡ãŠ ‡ãŠã¤ã. 

 ¹ãÆ½ãã¥ã ãäÌãÞãÊã¶ã  = 4.68 

 ½ã£¾ã‡ãŠã            = 51 

 ½ãã£¾ã               = 50 

 

¡) ¹ã¦¾ããÞ¾ãã ¹ãÆ½ãããä¥ã¦ã ÔãâÞããÞãñ 52 ¹ã¦¾ãã¦ãî¶ã †‡ãŠ ¹ã¦¦ãã ‡ãŠã¤Êãã ¦¾ããâÞããè Àã•ãã ãä‡ãâŠÌãã Àã¥ããè Öãñ¥¾ããÞããè Ôãâ¼ããÌ¾ã¦ãã ‡ãŠã¾ã 

 ÀãÖãèÊã? 

 

 

  *************  
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 Ôã îÞã¶ãã†ú :- 1. Ôã¼ããè ¹ãÆÍ¶ã ÖÊã ãä‡ãŠãä•ã¾ãñý 

 2. Ôã¼ããè ¹ãÆÍ¶ããò ‡ãñŠ ‚ãâ‡ãŠ †‡ãŠ Ôã½ãã¶ã Öõý 

 3. ÔãÀÊã ¶ããù¶ã-¹ãÆãñØãÆã½ãñºãÊã Øã¥ã‡ãŠ ¾ãâ¨ã‡ãŠãè ‚ã¶ãì½ã¦ããè Öõý 

 4. ‚ãâ‡ãŠØããä¥ã¦ããè¾ã ÔããÀ¥ããè ‡ãŠã ¹ãÆ¾ããñØã ‡ãŠÀ¥ãñ ‡ãŠãè ‚ã¶ãì½ã¦ããè Öõý 

 

    

1.  ¼ããÀ¦ããè¾ã ‡ãðŠãäÓã ÔããâãäŒ¾ã‡ãŠãè¹ãÀ ãä¶ãºãâ£ã ãäÊããäŒã¾ãñý 

 

‚ã©ãÌãã 

 

¹ãÆãä¦ãªÍãÃ †Ìãâ ØãõÀ-¹ãÆãä¦ãªÍãÃ ãäÌã¼ãÆ½ã ‡ãŠãñ Ô¹ãÓ› ãä‡ãŠãä•ã¾ãñý ¹ãÆãä¦ãªÍãÃ †Ìãâ ØãõÀ-¹ãÆãä¦ãªÍãÃ ãäÌã¼ãÆ½ã ½ãò ‚ãâ¦ãÀ ªÍããƒÃ¾ãñý 

 

 

2.  ‡ãòŠ³ãè¾ã ¹ãÆÌãð¦¦ããè¾ããò ‡ãñŠ ãäÌããä¼ã¸ã ¶ãã¹ããñ‡ãŠãè ¹ããäÀ¼ããÓãã ªãèãä•ã¾ãñý ƒÔã ¶ãã¹ã¶ã Ôãñ ‡ãŠãõ¶ãÔãñ „ªáªñÍã ¹ãî¥ãÃ ãä‡ãŠ¾ãñ •ãã Ôã‡ãŠ¦ãñ Öõý 

 

‚ã©ãÌãã 

 

ãä¶ã½¶ã 200 Ì¾ã‡ã‹¦ããè‚ããò‡ãñŠ ‚ãã¾ã ‡ãñŠ ãäÊã¾ãñ ºãÖìÊã‡ãŠ, ½ã£¾ã‡ãŠã †Ìãâ Ôã½ãã¶¦ãÀ ½ãã£¾ã ‡ãŠã ‡ãŠÊã¶ã ‡ãŠãèãä•ã¾ãñý 

‚ãã¾ã (Á)  Ì¾ã‡ã‹¦ããè‚ããò ‡ãŠãè ÔãâŒ¾ãã 

1,000 Ôãñ 2,000 ‡ãñŠ ºããèÞã 25 

1,000 Ôãñ 3,000 ‡ãñŠ ºããèÞã 33 

1,000 Ôãñ 4,000 ‡ãñŠ ºããèÞã 48 

1,000 Ôãñ 5,000 ‡ãñŠ ºããèÞã 98 

1,000 Ôãñ 6,000 ‡ãñŠ ºããèÞã 126 

1,000 Ôãñ 7,000 ‡ãñŠ ºããèÞã 180 

1,000 Ôãñ 8,000 ‡ãñŠ ºããèÞã 192 

1,000 Ôãñ 9,000 ‡ãñŠ ºããèÞã 197 

1,000 Ôãñ 10,000 ‡ãñŠ ºããèÞã 200 

 

 

 

3.  ãä¶ã½¶ã ½ãò Ôãñ ‡ãŠãñƒÃ ¼ããè ªãñ ¹ãÆÍ¶ããñ ‡ãŠãñ ÖÊã ãä‡ãŠãä•ã¾ãñý 

 

‚ã) £ã¶ãã¦½ã‡ãŠ †Ìãâ ¨ãÉ¥ãã¦½ã‡ãŠ ÔãÖÔãâºãâ£ã Ôãñ ‚ãã¹ã ‡ã‹¾ãã Ôã½ã•ã¦ãñ Öõ? 

 

ºã) ¹ãÆ½ãã¥ã ãäÌãÞãÊã¶ã ‡ãŠãè ¹ããäÀ¼ããÓãã ªãèãä•ã¾ãñ: ¹ãÆ½ãã¥ã ãäÌãÞãÊã¶ã ‡ãñŠ ‚ããØã¥ã¶ã ½ãò ‚ãã¶ãñÌããÊããè Œãã½ããè¾ããú ãäÊããäŒã¾ãñý 

 

‡ãŠ) ãä¶ã½¶ã ªãñ Øãì›ãò Ôãñ ‡ãŠãõ¶ãÔãã Øãì› ‚ããä£ã‡ãŠ ‚ã¶ãìÁ¹ã Öõý 

 Øãì› - A Øãì› - B 

Ôã½ãã¶¦ãÀ ½ãã£¾ã 30 25 

ãäÌãÞãÀ¥ã (Variance) 625 400 

 

¡) ãä¶ã½¶ã ¹ãÆãä¦ã¹ãØã½ã¶ã Ôããä½ã‡ãŠÀ¥ã Ôãñ `àã` †Ìãâ `¾ã` ‡ãŠã ½ãìÊ¾ã —ãã¦ã ‡ãŠãèãä•ã¾ãñý 

 

33)(5¾ã4àã

1079¾ã20àã




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4.  ãä¶ã½¶ã ½ãâñ Ôãñ ‡ãŠãñƒÃ ¼ããè ªãñ ¹ãÆÍ¶ããâñ ‡ãŠãñ ÖÊã ãä‡ãŠãä•ã¾ãñý 

 

‚ã) Ôãâ¼ããÌ¾ã¦ãã ‡ãŠãè ãä¶ã½¶ã Ôãâ‡ãŠÊ¹ã¶ãã† Ô¹ãÓ› ãä‡ãŠãä•ã¾ãñý 

 1) Œãâ¡ãè¦ã †Ìãâ ãä¶ãÀâ¦ãÀ Ôãâ¼ããÌ¾ã¦ãã 

 2) ‚ã¹ãñãäàã¦ã ½ãîÊ¾ã 

 

ºã) ãä¶ããäÍÞã¦ã¦ãã †Ìãâ ‚ããä¶ããäÍÞã¦ã¦ãã ‡ãŠãè ãäÔ©ã¦ããè ½ãò Ôãâ¼ããÌ¾ã¦ãã ‡ãŠãè Ôãâ‡ãŠÊ¹ã¶ãã Ô¹ãÓ› ãä‡ãŠãä•ã¾ãñý 

 

‡ãŠ) †‡ãŠ ÖÔ¦ã‡ãŠÊãã ¼ã¥¡ãÀ ½ãò ‚ããõÔã¦ã 20% ãäÌãªñÍããè Ì¾ããä‡ã‹¦ã †Ìãâ ÍãñÓã 80% Ô©ãã¶ããè¾ã Ì¾ããä‡ã‹¦ã •ãã¦ãñ Öõý ãäÌãªñÍããè Ì¾ããä‡ã‹¦ã‚ããò ½ãò 

 Ôãñ 75% †Ìãâ 50% Ô©ãã¶ããè¾ã Ì¾ããä‡ã‹¦ã ‰ãŠ¾ã ‡ãŠÀ¦ãñ Öõý ¾ããäª „¶Öãñ¶ãñ ‰ãŠ¾ã ãä‡ãŠ¾ãñ Øã¾ãñ  ÌãÔ¦ãî‚ããò ‡ãŠã Øã›áŸã ¶ãØãª ¹ã›Êã ¹ãÀ 

 ¼ãñ•ãã ¦ããñ ‰ãŠ¾ã ‡ãŠÀ¶ãñ ÌããÊãñ ãäÌãªñÍããè Ì¾ããä‡ã‹¦ã‚ããò ‡ãŠãè Ôãâ¼ããÌ¾ã¦ãã ‡ã‹¾ãã ÖãñØããè? 

 

¡) ¶ããØã¹ãîÀ ‡ãñŠ †‡ãŠ ¹ãìÔ¦ã‡ãŠãÊã¾ã ½ãò 40 ¶ãƒÃ ãä‡ãŠ¦ããºãñ ¹ãÆã¹¦ã ÖìƒÃ, ãä•ã¶ã½ãò Ôãñ 12 ‚ãâØãñ•ããè ‡ãñŠ „¹ã¶¾ããÔã ¼ããè Öõý ¾ããäª „¶ã½ãò Ôãñ 

 ÞããÀ ãä‡ãŠ¦ããºããò ‡ãŠãñ ªõÌã-ãä¶ãªÍãÃ¶ã Ôãñ Þãì¶ãã •ãã¦ãã Öõ, ¦ããñ Ôãâ¼ããÌ¾ã¦ãã —ãã¦ã ‡ãŠãèãä•ã† ãä‡ãŠ „¶ã½ãò Ôãñ †‡ãŠ ‚ãâØãÆñ•ããè ‡ãŠã „¹ã¶¾ããÔã 

 ¶ãÖãè Öõý 

 

 

5.  ãä¶ã½¶ã ¹ãÆÍ¶ããò ‡ãñŠ „¦¦ãÀ ãäªãä•ã¾ãñý 

 

‚ã) ``†‡ãŠ ‚ãÞœã ¶¾ããªÍãÃ ªõÌã Þã¾ã¶ã ¹ãÀ ‚ãã£ããÀãè¦ã Öãñ¶ãã ÞãããäÖ¾ãñ`` Ô¹ãÓ› ãä‡ãŠãä•ã¾ãñý 

 

ºã) ãä¶ã½¶ã ÔãâŒ¾ããÔãñ ÖÀã¦½ã‡ãŠ ½ãã£¾ã —ãã¦ã ãä‡ãŠãä•ã¾ãñý 

 ½ãîÊ¾ã: 605, 650, 705, 800, 90, 1.012, 0.15 

 

‡ãŠ) ãä¶ã½¶ã •ãã¶ã‡ãŠãÀãè Ôãñ ‚ã¹ããä‡ãŠÀ¥ã Øãì¥ã‡ãŠ —ãã¦ã ‡ãŠãèãä•ã¾ãñý 

 ¹ãÆ½ãã¥ã ãäÌãÞãÊã¶ã           = 4.68 

 ½ã£¾ã‡ãŠã                     = 51 

 Ôã½ãã¶¦ãÀ ½ãã£¾ã           = 50 

 

¡) ¹ãÆ½ãããä¥ã¦ã ¦ããÍã ‡ãŠãè Øã¡á¡ãè Ôãñ 52 ¹ã¦¦ããñ ½ãâñ Ôãñ †‡ãŠ ¹ã¦¦ãã ŒããèÞããâ Öõ? „Ôã‡ãŠãè ºããªÍããÖ ¾ãã Àã¶ããè Öãñ¶ãñ ‡ãŠãè Ôãâ¼ããÌ¾ã¦ãã —ãã¦ã 

 ‡ãŠãèãä•ã¾ãñý 

 

 

  *************  

 


